= AH O
M = 0l &8 AF 2 ZH A A
2011E S 20Aa LBHSIH L JIEISESIH BAAEL ~ EHAIY I}
A BAHAA DL
M. BHo2 Jls Y3
e BEAHS AHIA J|BtR=E (St &)
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
BAHAS I 3,852,133 3,559,126 293,007
= 403,124
D 261,602
=2 790
< 245,911
Al 2,940,706
B2z Jls &4& 3,420,634 3,343,852 76,782
= 403,124
Dl 261,602
= 790
< 245,511
Al 2,509,607
BAHOYS MHIA D= 1,247,143 1,337,126 89,983
= 349,426
p) 2,875
= 790
< 87,357
Al 806,695
SHEQ2MHIA WA 865,664 775,104 90,560
= 349,426
[==4 87,357
Al 428,881
201 Lt AH| 28,000 2,000 26,000
01 AFR22|H] 28,000 2,000 26,000
O1 Yet=ZH| 2,000
DEJHEBAHXA OIE 2,000,000 x 14! 2,000
O6 dxtz2 26,000
D SEUHBAIA ZAIRHE 22X
26,000,000 x14! 26,000
401 Al&HI L2004 831,864 745,926 85,938
= 345,560
< 86,390
Al 399,914
01 Al&H] 817,932 732,000 85,932
OEUHBAX A A= 703,932,000 « 14! 703,932
= 345,560
< 86,390
Al 271,982
OsgHEAXA~ EA 80,000,000 =14/ 80,000
OEUHEBAHXA A= AAIEH
34,000,000 x14! 34,000
02 Zeldl 9,800 9,800 0
OEYHEBAHXA &= 9,800,000 14! 9,800
03 AIE 204 4,132 4,126 6
OEYHEAHXA &= 4,132,000 « 14! 4,132
405 KHAHESHI 5,800 27,178 A21,378




SN

2

M P92 Jls &3t
=2
—_

SHel: BASHHIA JIBIRE (S92
_ _ _ Muo
SNBSS - HRAY - BHES 0 & o4 e HIRZE2
= 3,866
= 967
Al 967
01 RMUSEH S| 5,800 27,178 £21,378
OXID YA BEI(BH - HHKI L)
2,900, 0002 *2CH 5,800
= 3,866
= 967
Al 97
oA SHTBAAY AL YA 5,750 0 5,750
| 2,875
Al 2,875
405 THAHEH S 5,750 0 5,750
| 2,875
Al 2,875
01 RMUSESH S| 5,750 0 5,750
OPC(224 SBIHBAALS)
1,150, 0002 *5CH 5,750
| 2,875
Al 2,875
2AGATAIL L HHl R 77,600 58,446 19,154
201 Yer2g| 26, 100 27,996 A1,896
02 ZZ2H| 26, 100 26,496 396
O3 A&ZHIR N 26, 100
>EA(R)A ARFY (X DBHY S)
500,000 *122 6,000
>2sA FH RX2E 600,000 *14] 600
>2AMA BUl SXI221 3,000,000 14 3,000
DEAYED X BR(HIIAHI )
4,000, 0002 * 14! 4,000
>22AXIEA EHl SXB2l 500,000 1A 500
>etARS Al Bl RXIZEl 12,000,000 1A 12,000
401 AEHIYLS ] 43,300 5,000 38,300
01 Al&t] 43,300 5,000 38,300
OBAX(XIA) A& X 22/l
10,000,000 *14! 10,000
OBANB A 33,300
>XIoH: £SDEMOI DA (&)
1,000,000 %14} 1,000
b SAgAE U KBNS (HIS)
17,000,0002! #14! 7,000
> S (HE) 7,800,0002 14! 7,800
> S &b (BHTH) 7,500, 0002 * 14! 7,500
405 X+arE S| 8,200 25,450 A17,250
01 XA SEFH S| 8,200 25,450 A17,250




SN

2
M P92 Jls &3t
2

& EAHOAS MHIA DB RS (etel: =3
SA-E . S(E) - MEAY - BES 0 & 24 e {imE=Eh
01l &+ o
(@)-Fakn 5,000
DYUZZHE (AS|OA) 4,000,000 =1CH 4,000
DESAIE(ASIOA) 1,000, 000& = 1CH 1,000
O22AX 3,200
DY e (2a) 1,000,000 = 1CH 1,000
DUEEEE S0l AN (2Y)
180,000 1K 180
DSEI(KE,HeH) 600,000 »2CH 1,200
D> THARE) 180, 000& 44 720
DHEISGHE(EHR) 100, 000& =14 100
SAAME 2K 298,129 503,576 N205,447
= 790
Al 297,339
201 LEH2HH| 137,719 129,286 8,433
01 AtS2t2iHl 26,840 36,980 A 10,140
O1 Ler=EH| 17,360
POAZHIIZ +=H ==8 9,600
oOB2AA 120,000& 12 1,440
OR2AXA UL WA
40,0002 * 1704 A +128 8,160
DESE A 2,000,000& * 12 2,000
DAY A 1,200,000& *13] 1,200
DEIIHEEA 2,000, 000& 23] 4,000
DAUSIEESEH(EBHL) 400,000& * 14| 400
DAY IS5CZ SR
20,000& 2L x4= J| 160
O2 A= u=H 500
DEAANSFE A W= 50,000& *102 500
O3 2g8+¢ 980
RS
70,0003 »721+23| 980
O4 II=H| 8,000
DM (OLR2) 80,000& = 100! 8,000
02 25234l 110,879 92,306 18,573
O1 3222 £ HMA 58,400
D aote=E MEE 200,000& «12& 2,400
DEIIANER 450,000 94 A +128 48,600
DEFNLARES (X, HER)
300, 000& »22] 600
DEIHE2H (BHRIL)
80, 000& x50 A+ 123 4,800
DXUEEER 500,000 =4CH 2,000
O2 g2l 28,050




e
10
U
x
=2
>
S
T
J
i

209,473

M- BB Sl (B) - HIRAY - Ba S sk oy e 2
PHZAUHSR QO6R *15 £ *20H Aax72L 2,152
DEYUYHSE 993& %45 § * 10 Aax72 3,218
D LHEEIEA (LPG) 3,500 x15m" *6 I A +72 22,680
O3 A& ZHI= Xt 14,800
DEHAFZAIAE 7X2e
10,000,000& * 14! 10,000
DASE SXEAH(HSA)
200,000& «12& 2,400
DSl |FX2=Hl 200,000& «12& 2,400
O4 xtgk. o8l 9,629
PsE AE 4,987,000% = 1CH*60/100 2,993
>P&sE &E 3,080,000 = 1CH*60/ 100 1,848
>atE AE 3,416,000 = 1CH*60/ 100 2,050
DAHSHA 4,563,000& = 1CH*60/100 2,738
202 O4H| 132,220 109,300 22,920
= 790
Al 131,430
01 =W 125,220 102,300 22,920
OEAHAMIFE 85,800
DEAL 1,000,000 *12& 12,000
> EAR A 5,510,000& 123 66,120
DEAMZA 640,000& «12& 7,680
OZBsEHSA 39,420
PASR L EfN=E 200, 000& #2721x13] 5,400
&2 790
Al 4,610
>Ools&d 20| 2,835,000& x12& 34,020
04 =Xl 7,000 7,000 0
OEdA YRFAEY o
7,000, 000& 14 7,000
203 YR =Y 7,000 7,000 0
03 AMF=XHRFEH| 7,000 7,000 0
O824 ANBIER= 7,000, 000& =14 7,000
301 YptEasg 1,190 1,190 0
10 EAIAHIE A= 1,190 1,190 0
OltSddd s 4L Y
1,190,000& » 14! 1,190
307 QI2t0IA 20,000 30,000 210,000
05 BItRE = 20,000 30,000 210,000
o222zt 294 20,000,000& *14! 20,000
dEE 2t 1,227,300 1,220,422 6,878
2,840




S 2D
Hm: 2292 |5 Y5t
ool gamggae (29l @8

2
J2

2
R
J2H

=

64,106
950,881

4,280

2,840
1,440

3,380

900

3,200

2,000
1,200

2,900

300

dEE 2| ANnE D=H

| 300,000&*1¢!

500,000& 1¢!

W

=

W

3,200
3,200
300
300

2,400

1,200
1,200

500
500

2,900

300

202 (4Hl

=

1,080

840
240

480

600

01 =LHAOYI

OXZYE 22| AUE w0

400,000& x 12!

odgdze ARNUNE Ws0|

odgdae 8atusid u

240,000& 20!

=08l
200,000& 1¢!

H

W

1,080
400
400

480

240
240

200
200

480

600

= mn X

418,946
209,473

64,106
145,367

457,002

A 38,056

101 1A

Il
Al

41,854

20,927
20,927

40,570

1,284

04 JI2tHl

41,854,000 » 14!

p)
Al

41,854

41,854

20,927
20,927

40,570

1,284

307 2120l A

= mn X

377,092
188,546

64,106
124,440

416,432

A 39,340




SN BAAYD
o @08 |5 A5}
col SHEEYRL (eel: &
SN B S2(BH) - HRAY - BES Off & 04 glggf; HD=2
01 A2+ =H 377,092 416,432 A39,340
ouggs=t 377,092,000& 14! 377,092
Il 188,546
- 64,106
Al 124,440
HeEs € 82 376,710 356,210 20,500
201 LEH2 | 7,250 2,200 5,050
01 At 2t2lbl 7,250 2,200 5,050
O1 gptag| 7,250
Y L 00X s
2,800,000 * 14! 2,800
DHEES AMA KA 3,000& *1,000% 3,000
PHEES JtE 2L 2503 x5, 0000H 1,250
DEMHET HEEL 200,000& » 14| 200
202 Oddl 12,960 12,960 0
01 2UH0iI 12,960 12,960 0
OUYESAMLEX 1,080,0002 12 12,960
307 2120l & 356,500 341,050 15,450
01 SI24 =l 356,500 341,050 15,450
OuUES WAl 351,500
DEEIZEA(RE) 4,000& *2,0002! 8,000
PRULS(UE2AL-22)
8,000& =30,000¢! 240,000
DARLE(RZ) 3,500& +8,0002! 28,000
DAUESEZEEHI(RE) 8,000& *1,5002! 12,000
PeF(R2) 11,000& *1,000¢! 11,000
>T(2E) 12,0002 *1,0009! 12,000
DBEUE(RE) 3,500& +3,000¢! 10,500
D> AOOHHI (R 2) 7,000& *2,0002! 14,000
>OPT(R2) 4,000& *4,0002! 16,000
OWEES JIXHM 5,000, 000& 14 5,000
PAALS 427,364 380,770 46,594
101 el 24l 25,264 22,270 2,994
04 JIAH22USES 25,264 22,270 2,994
ogors 25,264
DEAA 24,664
ollzs 43,7008 221+ 150 13,110
OFs=+=E 43,7003 221 %322 2,797
otz 43,7003 221 %322 x23 5,594
O&MEE 21,503,000& *33/1,000 710
onges 21,503,0002 +1.75/100 377




SH BAANLD
Hm: 92092 J|s 2
ool SNFIYRe (el & 2
RA B SA(BH) - NRAY - B 01 e HRE2
SEECE 21,503, 0002 *6. 55/ 100 1,409
o=olei2 21,503, 0002 *2.665/ 100 574
OEIIRUIE 1,409, 0002 *6.55/ 100 93
> Il =t 600
o2es= 200,0002 x2¢! 400
o223 100,0002 x2¢! 200
201 Yot Y| 6,700 6,100 600
02 B2 6,700 6,100 600
O1 2222 ¥ HAl 3,600
>oPS AR E 50,0002 *12CH 68 3,600
O3 A&ZHIRA 3,100
> RYHRASD] 100,000 *10CH 1,000
> EHHRASD 50,0002 *20CH 1,000
>HEROIASD] 110,000 *10CH 1,100
206 T2 95,400 112,400 A17,000
01 THEHl 95,400 112,400 A17,000
Ogia=orz 84,600
PEREAER 42,0002 500 ¢ 21,000
>ERg AR 15,0002 200 £ 3,000
>oRBAER 48,0002 *1,000 £ 48,000
> RESAEH 42,0002 %300 £ 12,600
ogdAs=RE 10,800
> 3,600
oxgs 1,8002%2,000 £ 3,600
> S 2 7,200
oss 1,800 %4,000 £ 7,200
307 Q12401 300,000 240,000 60,000
05 PIZHSIES 300,000 240,000 60,000
OE2AA YoAS HHAH 2Y(2L, %)
250,000 1220 2 X * 1002 300,000
ok 2t 468,355 335, 112 133,243
= 50,858
| 44,480
= 84,518
Al 288,499
sty el 101,717 101,715 2
= 50,858
= 50,859
301 LPB A 66,859 66,857 2
=2 33,429
= 33,430
NI EEEERSTE 66,859 66,857 2




_ _ _ N E
SA - SR(E) - HRAY - BES Abou e HIRE
O A2 X AHH X2 (45 )
66,859, 000! * 14! 66,859
= 33,429
[ 33,430
307 Q12101 X 34,858 34,858 0
= 17,429
= 17,429
05 I2releta 34,858 34,858 0
O BHHIYRAE 2SN
34,858,0008 * 14 4 34,858
= 17,429
= 17,429
HOIX L Aol 10,404 10,056 348
p] 5,202
Al 5,202
202 OfH| 548 200 348
p] 274
Al 274
01 2WHoiHl 548 200 348
OOl = g0l Argt 548,00021 14! 548
p] 274
Al 274
301 YL A 800 800 0
p] 400
Al 400
01 ASlBZ X462 800 800 0
o892 2 X2l 800,000 14! 800
p] 400
Al 400
307 QI2H0| & 9,056 9,056 0
p] 4,528
Al 4,528
01 S2x et 9,056 9,056 0
OMEFITHAIOF DY 3,040,0002 *14! 3,040
p] 1,520
Al 1,520
OO0 =T SHAIS 0} 6,016,00021 14! 6,016
p] 3,008
Al 3,008
o E e ALY 78,556 1,160 77,39
p] 39,278
[ 7,856
Al 31,422
202 OfH| 2,400 0 2,400
p] 1,200
[ 240
Al 960




SR
Hm: 8292 Js 2a
=N =T | in]

=T

1
x
X
o
i
10
5
X
=
1
=
1%
g
0x
i
2
>
]2
=20
R
12 H
o
£l
Ol
0y

ol 2,400 0 2,400
= AOIHl 20,0003 «10Z 128 2,400

1,200
240
960

0
bl

I
e
P

>y

307 2120l & 76,156 1,160 74,996
38,078
7,616
30,462

>y

01 I2¢ <2l 76,156 0 76,156
= A EBJ1ZA 2 A
5,200,000& 14 5,200
2,600
520
2,080
OZHURAEX 2/=2Hl XA 43,680,000 14! 43,680
21,840
4,368
17,472
O8od B B A 23,800,000& * 14| 23,800
11,900
2,380
9,520
3,476,000 * 14! 3,476
1,738
348
1,390

O
k>
iE ]

I

=N = <

>y

OZ s AI(BCG) -

118}

= mn X

Y
Jo
fol
ajon
S
[l
rig
10
a1
o

sad 16,100 16,100 0
3,220
12,880

= H

307 2120l & 16,100 16,100 0
3,220
12,880

=

05 BIZtRAE = 16,100 16,100 0

16,100,000& » 14! 16,100
3,220
12,880

= H

XA Y ZHDONAKNIZE AL EESSE 20,933 15,333 5,600
4,187
16,746

=

307 2120l & 20,933 14,933 6,000
4,187
16,746

= H

05 2IIRAE S 20,933 14,933 6,000
DNAXIZ2Z AL & EESES

133,330& 130 17,333
3,467

H




SN

2
HH: 22492 Jls s
o 2]

oo orgg | CEREE
- _ . NE
2N -3 - c2(3H) - NEME - HES Ol &F2H bﬂ/‘\_“’” Hns
Al 13,866
ONTM X012 (PCRZ AH) 40,000& *x90AH 3,600
< 720
Al 2,880
ZeS I 3XE 2| K& 2,780 2,780 0
= 556
Al 2,224
202 4l 600 600 0
= 120
Al 480
01 =2l 600 600 0
OZMEBuUE0HI 200,000 *30! 600
< 120
Al 480
301 2EtEAZ 680 680 0
= 136
Al 544
12 JIEtE A2 680 680 0
OZE#AZJAHS A X2 ) 680
DRzESsY 120,000& *43| 480
= 96
Al 384
DEAZES WSHl AUl24 50,000& 43| 200
& 40
Al 160
307 QIz2to| A 1,500 1,500 0
= 300
Al 1,200
01 2L P =H| 1,500 1,500 0
OZ&ist MIH(2EES) ¥ 2N 2
1,500, 000& *14] 1,500
= 300
Al 1,200
Sl 2 ARCH Z)|EAAY 29,734 29,728 6
< 17,840
Al 11,894
307 QIz2to| A 29,734 29,728 6
= 17,840
Al 11,894
05 oIzZt/E 3 29,734 29,728 6
OstLf &2 AFCH ZJ|12AH|(9,292H)
29,734,000 =14 29,734
< 17,840
Al 11,894
oty A 160,650 118,240 42,410
201 B2 AH| 3,800 2,800 1,000




SN

2
HH: 22492 Jls s
o 2]

Chel: gt ate] CEREE
. _ - AT
FA-ZH-S2ARH) - MFAY - BES Off &k o Ol AF o8 ] mE=g=
01 AtR2telt] 3,200 2,200 1,000
O1 Lut24| 3,200
> EHHI (HE B AL S) 100,0002 * 12 1,200
DA B +AHE 2,000,0002 *14] 2,000
02 332l 600 600 0
O1 2323 2 HMA 600
DHEYLD MEFUE AEE
50,0002 * 12 600
202 01| 1,000 1,000 0
01 2UHoiHl 1,000 1,000 0
OZH2AIANLFH 20,0002 #50%] 1,000
307 gIztol 150,000 95,000 55,000
01 ZHPZH| 150,000 95,000 55,000
OnAUTNAE 5,000 x4002! 2,000
OZALAISH & JIRHH R (24e, 20015, 84,
OlOI =2 AL 2tEd) 130,000, 000! 14} 130,000
OZsan &2 7 10,000,00024 * 14} 10,000
OZsa JIT P (Hegsel 65)
5,000,000 * 14! 5,000
OJI4&(28) A=+ 1,20022,5002! 3,000
405 XtakF S| 5,850 19,440 13,590
01 AL 2EF S| 5,850 19,440 13,590
OHAE2g dFD(2AL2,X42)
500,000 *4CH 2,000
OUEE IS 2IHII(22A 22, XI209)
350,0008 *11CH 3,850
sty X 47,481 40,000 7,481
307 gIzol 47,481 40,000 7,481
05 QIZHIES 47,481 40,000 7,481
Ostd=XIgEs X2 47,481,0002 % 14! 47,481
SE=NE] 477,836 451,192 26,644
| 4,774
S 9,530
Al 463,532
SHOlotAY JISEY 3,859 7,434 ~3,575
| 2,572
Al 1,287
405 XtakF S| 3,859 0 3,859
pJ 2,572
Al 1,287
01 R 2EF S| 3,859 0 3,859
Oss2KED 1,815,0002 +2CH 3,630
| 2,419




SH: A
Hm: 82192 Js 2a
x 2

el

el
x
bl
-
i
4o
fon
2
>
el
=
R
=i
0x
o
=
[
2
2
R
12
o
£l
0l%
IS

Al 1,211
O SFALXIDI 229,000 = 1CH 229
p) 153
Al 76

,404 4,298 106

,202
,202

Il
Al

DN~

201 LEt=EH|

e

,004 1,298 AN 294

Il 502
Al 502

01 AtR2teld] 1,004 1,298 N294
O1 L= 1,004

g3l

1,004,000& * 14| 1,004
Il 502
Al 502

\Y%
]
10
I
P
12
T
Y
=
e
Ho

307 GI12t0lH 3,400 3,000 400

Jl 1,700
Al 1,700

01 2

U
e

24|
F NS EAAY HETY
3,400,00021 *14} 3,400
| 1,700
Al 1,700

3,400 3,000 400

O
]
10
]o

SIHTHOt S 2=l K& 10,000 26,000 216,000

5,000
5,000

=

307 2120l & 10,000 26,000 A 16,000

5,000
5,000

=

01 S84 <=l 10,000 26,000 A 16,000
OXH MOt e|setkt 2l=H X
10,000, 000& 14 10,000

5,000
5,000

=

SAHIZ A LolAzae| 20,000 20,000 0
4,000
16,000

= H

307 2iz2tol A 20,000 20,000 0

4,000
16,000

=z H

01 ¢ =3:] 20,000 20,000 0
l2a LR8I 20,000,000 14! 20,000

4,000
16,000

=

T ALY 29 2,650 2,650 0




SN

SAAY
HH: 22492 Jls s
x 2

el AZ XS (etel: =3
SA-E . S(E) - MEAY - BES 0 & 24 e {imE=Eh
S 530
Al 2,120
201 LEH2HH| 2,650 2,650 0
3 530
Al 2,120
01 AFR2t2iHl 2,650 2,650 0
03 2&+¢ 2,650
DE3 U-EA ME 2,650,000 * 14| 2,650
< 530
Al 2,120
SE=PNE 436,923 390,810 46,113
101 el 24| 21,823 18,068 3,755
04 JIZAHZ2XHSE= 21,823 18,068 3,755
og2axz 21,823
Pll2=s 45,9003 +1Q1%2502 11,475
DAt 45,9003 x 121 15& 689
bEs=d 45,9003 121 +54& 2,479
>ao=s 11,934,000 *4/12 3,978
>EXS 45,9003 30 1,377
DATHEE 18,621,000 %7/1,000 131
PUNELE 18,621,000 *1.75/100 326
DALLE 18,621,000 *2.665/100 497
>=oA= 18,621,000& *4.5/100 838
DEAIIRYEE 497,000% *6.55/100 33
201 LEt=EH| 17,980 17,482 498
01 AtR2teld] 14,180 13,680 500
O1 Let=2H] 14,180
DEAMIDZHE A== 20,0003 ~43] 80
Dol MZIHE B2
30,0002 =100 =122 3,600
PRSRAE=PN 50,0003 100 A 5,000
DHESEEI(HLTHAML 25)
1,000,000& 38 3,000
PHMEY €58 el &Y
2,000, 0002 14 2,000
PEANSE 0 2 500,000 » 14! 500
02 =234l 3,800 3,802 A2
O3 A& &Hl= Al 3,800
DotdAE AAF2AC|AMAE SAES
3,800,000 * 14! 3,800
202 O 7,560 7,560 0
01 =AY 7,560 7,560 0
OosdzX& 630,000& 128 7,560




SH: 2AASD
Hal: BA02 Jl5 Yst
oo AN (29l &
= % ol (5 = 5 dEE =
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
305 Ha3S 5,000 5,000 0
01 tha2s 5,000 5,000 0
OoAEAD B&3 5,000, 0002 * 14! 5,000
307 21201 371,760 312,600 59, 160
01 2YLRZH| 371,760 312,600 59, 160
OWE B (2AL) 40,560
DAYEE SOE A4E  1,000,0008 *128 12,000
>aYNE o= 10,0002 x6002! 6,000
>R HeIXE o3 6,000 ¥5009! 3,000
DEYRE o F 830,000 * 122 9,960
>R, B BN B AMTHE(FEI S
6%) 800,000 * 122 9,600
OB FBHI (BAXI2 9H2) 331,200
> RS 26,000,0002! * 12 312,000
>EYRE o F 500,008 * 122 6.000
> XD oS 3000002 * 122 3,600
>RIMTHE (RIE, 80, XI3)  800,0008+122 9,600
405 Xtorz S| 2,800 30, 100 A17,300
01 Xt YLSEF S| 12,800 30, 100 A 17,300
Oclgg 2ZHE(S2AREL)
100,000 * 107H 1,000
ONMBHEIN (SR 1,100, 0002 #1CH 1,100
O=AI(21EA) 6,000,000 1CH 6.000
OABE (s, play) 1,400,000 x2CH 2,800
OOl M ZRIED| (B el pla &)
700,000 *2CH 1,400
OZRAS)| LHH(NEA) 50,0002 1H 500
ojorE e 31,456 41,831 ~10,375
= 400
Al 31,056
ojorE ohF 22 10,956 20,760 ~9,804
oo, OttR NEH 10,956 20,760 ~9,804
201 Yere | 4,196 2,000 2,196
01 AtR22lt] 4,19 2,000 2,1%
O1 ger+2H| 4,19
>0t} & oorpel BRE M
200,000 *55 1,000
DOIEAD MAL ZHE 1,000,008 14 1,000
DHIICISE Hel +42  3,0002 +600kg 1,800
>RHOIEY SAS(2%e YPE)
33,0008 * 128 3%
202 04t 5,760 5,760 0




A EAHARE L

Hy: o|orE 22

CHel: OJoFE OtA 2tE| (St &=
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES Ol AFoH @;OH Hl =2
01 2o 5,760 5,760 0
O2olerZE otE g 480,000 x 128 5,760
301 Lt A= 1,000 1,000 0
12 JIEIB A2 1,000 1,000 0
Qo2 SwalD Za 100,000 10 1,000
AHAME L SSHA 12,000 13,263 A1,263
AHAME L SSHA 12,000 12,000 0
201 LEt2HH| 12,000 12,000 0
01 AFR2t2lH] 12,000 12,000 0
O1 Yeta=2H 2,000
DAHAM SSHI WSUMH(SHEZA)
1,00024 %1, 0002 23| 2,000
08 294 10,000
DAHAM 2 SZHI ZAIZ(AHAETAI)
200,000 201 %253 10,000
D015 245 8,500 7,808 692
[= 400
Al 8,100
ZIJIER A2 2,000 1,308 692
[= 400
Al 1,600
307 QIZto|A 2,000 1,308 692
[= 400
Al 1,600
01 9 BLRIHI 2,000 1,308 692
OZJIDJIEX 224 X 2,000,0008 x 14! 2,000
[= 400
Al 1,600
0|5 AE 6,500 6,500 0
201 LErRHH| 500 500 0
01 AtR22t2IH] 500 500 0
O1 Yeka=2H 500
DEIJIZE L e EE2 M=
100,000 55 500
307 QIZto|A 6,000 6,000 0
05 BI2+QIEt=2 6,000 6,000 0
OFINIE ALY =X (AR HIJIE 2
==28) 6,000,000 * 14! 6,000
HE2HAH| 400,043 173,443 226,600
QleA2AH|(BAHAIY 1) 341,793 124,893 216,900
Ol 2H|(BAAIY 1) 341,793 124,893 216,900




S BAALD
M #yeIF
ol oISl (2 2AA D) (crel: @
_ _ N E
M- E3H - S2(3H) - MR A Aol ‘@Egj BlusZ
101 2124t 341,793 114,003 227,700
01 24 114,093 114,093 0
OAZte2R4Y 7,457 %5121%300Al 2+ 114,093
02 JIEHH 24 227,700 0 227,700
OZE2AAA 227,700
PABEESEAZ 700,0008 <2791 %12 226,800
>IEREE 900,000 * 144 900
2 (BAAL D) 58,250 48,550 9,700
|2 BUI(SAAS D) 58,250 48,550 9,700
201 Yer2oy| 37,640 33,600 960
01 AtR22IH] 28,400 28,400 0
O1 Ler+gH| 24,200
PENSY ABL 6,000,0002! * 14! 6,000
>FARIID AR 1,500, 0002 * 122 18,000
> 2O 2 20,0002 * 102 200
O5 S| 4,200
>OFRt. EYU2R 7,000% %5001 %12 4,200
02 ZZ2H| 9,240 10,200 960
O1 2222 2 MAl 9,240
>RE23 350, 0002 * 122 4,200
>R 300, 0002 122 3,600
RS 120,0002 * 128 1,440
202 01t 9,710 9,710 0
01 2401l 9,710 9,710 0
OJl2ge s 9,710,0002! * 14! 9,710
203 PREXY| 10,900 0 10,900
01 JBeP YR FAY| 3,300 0 3,300
OPS S 3,300,0002 19! 3,300
02 HEAI}AYDET| 2,080 0 2,080
OF YD EAY] 40,0002 #5201 2,080
04 PASILREAY 5,520 0 5,520
ORN2gYR XY 460,0002 * 128 5,520




